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a PERIODIC TEST-T1 (2025-26) ,
QUESTION PAPER

Subject: Chemistry (043) Grade: X11

Marks: 25 Time: 1 Hour

Name: Date: 28-07-2025
General Instructions: =

The guestion paper comprises five sections _Ato E There are 12 questions in the question paper. All

guestions are compulsory.
Section - A, Question Nos. zmsammmmmwmlmd Assertion - Reason Type

Questions, carrying 1 mark each.

Section - B, Question Nos. 7 and B are Short Answer Type Questions, carrying 2 marks each.

Section - C, Question Nos. 9 and 10 are Shont Answer Type Questions, carrying 3 marks esch.

¥ Section - D, Question No. 11 is a Case Based Question carrying 4 marks

Section - £, Question No. 12 is a Long Answer Type Question carrying 5 marks.

There is no overall choice. However, internal choices have been provided in some questions. Attampt only
one of the alternatives in such questions.

Vil Use of calculators and log tables is not permitted.

Atomic masses of some elements: H=1u, C= 12u, N= 14u, He = 4u, Ca = 40u, Na = 23y, O = 16u, €1 = 35.5u

and §= 32
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Question Nos. 1 to 4 are multiple-choice questions. Choose the most appropriate answer:
1 While charging the lead storage battery 8 : - (1]
(b) PbSOy cathode i reduced to Pb

(a) PbSO, anode is reduced to Pb (b) PbSOx |
(c) PbSO. cathode is oxidised to. Pb (d) PbSO, anode is oxidised to PbO;

Which of the following statements is not correct about an imert electrode in acell?
(a}nmsmmnmmmmwlmm
[blltpmwdeumr&malm:rrhr'_, dation or for reduction reactions. J|
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are given - one labelled Assertion (A} and the u““" lak,

In Question No. 5 and &, two statements
Reason (R). Select the correct answer to these questions from the codes (a), (b), (c) and (d) as .,.,,

below:
{a) Both A and R are true, and R is the correct explanation of A.

(b) Both A and R are true, but R is not the correct explanation af A

{c) A is true, but R is false.

{d) A is false, but Riis:true. .
Assertion (A): Azeotropic mixtures are farmed only by non-ideal solutions and they may have ailing [11

points either greater than both the components or less than both the components.
Reason (R): The composition of the vapour phase is the same as that of the liquid phase of an azeotropic

mixture.
Assertion (A): During electrolysis of agueous copper sulphate solution using copper electrodes h?dfﬂsrﬂl
| 1

gas is released at the cathode.
Reason (R): The electrode potential of Cu™/Cu is greater than that of H*/Hz.

For the cell: 2n(s) | 2n**(2M) || Cu{0.5 M) | Culs) 2

(a) Write an equation for each half-reaction.

(b] Calculate the cell potential at 25 €

(Given: E®Zn**/2Zn = -0.76 :U;:E“'C{:’,‘f{?u =+0.34 V, log 4 =0.:6021)

If N2 gas is bubbled through water at 293 K, how many millimoles of N gas would dissolve in 1 litre of
water? Assume that N: exerts a partial pressure of 0.987 bar. Given that Henry's law constant for N at

293K is 76.48 kbar.

(2]

SECTION-C
What would be the molar mass of a compound|if 6.21 g of it dissolved in 24.0 gof chloroform forms a
solution that has a boiling point of 68.04 °C? The. boﬂlng point of pure chloroform is 61.7 *C and the hullmg
point elevation constant, K» for chlorofarm is 3.63 ‘Cfm _[:-_1'1
(2) Calculate the A% for CI” ion from the data given below; A% MgCl; = 258.6 Scm*mol~ and A% Mg®* = 106
Sr.m*mnl“* -[11

Eiectrol‘wte at 298 K, lf the resistanre uf the cell as il'.IDﬂ uhm? ,';[-2]_

SECTION =D
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SECTION - E
12 Consider three surfaces, A, B and C, which are placed perpendicular to the electric field 'E’. These [1x4)
surfaces are equidistant from each other.
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(1 1F 3 charge g is moved from P* to point Q! via 2 pot
dpl‘ié:in th:scm? - {
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' on the surface A, then how much work is

 FERCE e

c)qF (d) Zero.
> these surface




